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Exam Id

Name:

Exam Date: 11-Mlar-2023
Module Name: TEACHERS
Duration 120

Batch: 12:15-14:15

1) General Studies

Question No. 1 1.00

Bookmark
Which of the following is an environmental treaty of the United Nations that provides a global platform for
the conservation and sustainable use of migratory animals and their habitats?

QaRge AIQ 6806 99 RS GIEQ°e (United Nations) 8 98 9694 §8 (environmental treaty) 266, Q1L
gelLn gIaN (migratory animals) 99° 64F1Ie@ QAR 2°AVE G2l GRS QUSLLIR AR 98 [N
QA caIslinlg ?
(A) © Vienna Convention
@991 99R41 (Vienna Convention)
(B) © Ramsar Convention (Choosen Option)
QAR GRRG1 (Ramsar Convention) (Choosen Option)
(C) © Bonn Convention (Correct Alternative)
% &aa1 (Bonn Convention) (Correct Alternative)
(D) O Stockholm Convention
YLRELIC AFRA1 (Stockholm Convention)

Question No. 2 1.00
Bookmark
Noise pollution is measured in terms of which of the following units?
FANYS 69Q ISR (unit) 6 YE d9d4l (Noise pollution) €11 @QULIN?
(A) O Hertz
@ (Hertz)
(B) O Decibel (Correct Alternative) (Choosen Option)
62969 (Decibel) (Correct Alternative) (Choosen Option)
(C) O Candela
@legml (Candela)
(D) O Ampere
IS (Ampere)

Question No. 3 1.00

Bookmark

Temperate grasslands in Argentina are known as )
AHELIR FITENESIY GERE (Temperate grasslands), QUES £ JRTEG 26T .
(A) O Pampas (Correct Alternative)

aetig (Pampas) (Correct Alternative)
(B) © Campos

@legtd (Campos)
(C) O Llanos

@34 (Llanos)
(D) O Savanna (Choosen Option)

diel@l (Savanna) (Choosen Option)

Question No. 4 1.00
Bookmark
Which among the following Organisations publishes the 'Ease of Doing Business Index'?
FINYC LYY FRIQ 689 €°Y FIRI 'AR AP FAF TR68Y N64F (Ease of Doing Business Index)’
gaIFe 6QIR2g ?
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(A) © World Bank (Correct Alternative)
@) QYIS (World Bank) (Correct Alternative)
(B) O Organisation for Economic Cooperation and Development
2GIFINERLG R RERIERITR 6RIAVCAIR 24 626RMAEEIE (Organisation for Economic
Cooperation and Development)
(C) © World Economic Forum
NG RERERITS 6LPIRE (World Economic Forum)
(D) © World Trade Organisation (Choosen Option)
3¢ 918wY 9°QI (World Trade Organisation) (Choosen Option)

Question No. 5 1.00
Bookmark
River Sutlej is one of the tributaries of which of the following rivers?
FINGC 699 TN QUFYER FIQ AGEME L1 AFGA 26T ?
(A) O Godavari
69lLIU
(B) O Ganga
GlI%PI
(C) O Chambal
oFlm
(D) O Indus (Correct Alternative) (Choosen Option)
Qg (Correct Alternative) (Choosen Option)

Question No. 6 1.00

Bookmark
Who among the following wrote the book "Haravilasa"?

FAmgea I &9 "998mI4 (Haravilasa)" Y99 6MSlem?
(A) O Mirabai

MNALUR (Mirabai)
(B) O Srinatha (Correct Alternative)

gl1el2l (Srinatha) (Correct Alternative)
(C) O Krishnadevaraya (Choosen Option)

qY6LallL (Krishnadevaraya) (Choosen Option)
(D) O Malik Muhammad Jayasi

CIRG ALRQ QL (Malik Muhammad Jayasi)

Question No. 7 1.00

Bookmark
The subject 'marriage and divorce' is mentioned in which of the following lists of Seventh Schedule of the
Indian Constitution?

QL1 RIS 996 29T (Schedule) 69 YIS 69 SRR 'T9le @ &I¥dE (marriage and
divorce)' S84 QERS FAUAIRR?
(A) O Residuary List
21989 SImal (Residuary List)
(B) O State List (Choosen Option)
Q@Y GIRGI (State List) (Choosen Option)
(C) © Union List
695 SIS (Union List)
(D) © Concurrent List (Correct Alternative)
€9 |1 f7¢ SIS (Concurrent List) (Correct Alternative)

Question No. 8 1.00
Bookmark
Who has the authority to determine the salary and other service conditions of the Comptroller and Auditor
General of India?
QIRLS FHas G AZIemS aNsq (Comptroller and Auditor General) & 69% G 2iQUIaY qldy gaFe 699!
Q424 (service conditions) FRINE GRS IR FITIR ARIKIR 2AR?
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(A) O President of India (Choosen Option)
QUL AUYLAS (Choosen Option)

(B) O Parliament of India (Correct Alternative)
WINATRN 4°9dQ (Correct Alternative)

(C) O Union Ministry of Finance
6ag 22 agina

(D) O Prime Minister of India
QAL AIReIE]

Question No. 9 1.00

Bookmark
Who was the President of the Indian National Congress in the Lucknow session of 19167

1916 Q QRGN FIF1E 9°699 (Indian National Congress) @ R6S] 2IELFRER &9 ARITTE FY6M?
(A) O Rash Behari Ghosh
QUL FLIRT 62N
(B) © Surendranath Banerjee
698 SUIRIET
(C) O Gopal Krishna Gokhale (Choosen Option)
6alldif 9% 69115I6M (Choosen Option)
(D) O Ambica Charan Mazumdar (Correct Alternative)
2%e1 996 AZALIR (Correct Alternative)

Question No. 10 1.00
Bookmark
When was the first Odia national conference held in Cuttack?
RTRER 669 JlFl 682 Q191 QFRK (Odia national conference) 4°610% 6LIR2IMI?
(A) O 1928 (Choosen Option)
1928 (Choosen Option)
(B) O 1897
1897
(C) O 1914
1914

(D) O 1903 (Correct Alternative)
1903 (Correct Alternative)

Question No. 11 1.00

Bookmark
Tropical Deciduous Forest is also known as

TSI aéeals a8y (Tropical Deciduous Forest) Qe £1a Klgdll 26T |
(A) O Alpine Forest
2imdel 2 (Alpine Forest)
(B) O Temperate Forest (Choosen Option)
QIEEN6RIY 2RElY (Temperate Forest) (Choosen Option)
(C) O Coniferous Forest
9n S6lg 206y (Coniferous Forest)
(D) O Monsoon Forest (Correct Alternative)
6€1lgen AR (Monsoon Forest) (Correct Alternative)

Question No. 12 1.00

Bookmark
Where is the geothermal field 'Puga Valley' situated?

QOIUR 688 (geothermal field) ‘Y9Il RASYKI (Puga Valley)' 60Q0I6Q 29867
(A) O Lakshadweep Islands

MIYFI F1AYE
(B) © Andaman and Nicobar Islands

2AGIFNF B FERIQNQ F1AYE
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(C) O Ladakh (Correct Alternative)
m&'s (Correct Alternative)

(D) © Jammu and Kashmir (Choosen Option)
(Choosen Option)

Question No. 13 1.00
Bookmark
Where is the headquarters of National Bank for Agriculture and Rural Development of India (NABARD)
located?

QYERIM Qe PR NYIEMRSA 2id QAR GQ@R‘J_GQG} 2leP @82l 21 National Bank for Agriculture and Rural
Development of India (NABARD) @ ¢J5l4Ime: 6890169 2ASE6?
(A) © Chennai
693N
(B) O Kolkata
6RIMSRIS]
(C) O Lucknow
mesl
(D) O Mumbai (Correct Alternative) (Choosen Option)
¢]fla (Correct Alternative) (Choosen Option)

Question No. 14 1.00

Bookmark
The species of plants and animals which are found exclusively in a particular area are known as

69115 FEY RITIER IOT QIR 69YSIG ARSI AR 6 YFAITFA IRITG QLI |
(A) O Extinct Species (Choosen Option)
aRd KIS (Extinct Species) (Choosen Option)
(B) O Exotic Species
26941 QI (Exotic Species)
(C) O Endemic Species (Correct Alternative)
2IERF KIT (Endemic Species) (Correct Alternative)
(D) © Pandemic Species
A6gda QIS (Pandemic Species)

Question No. 15 1.00

Bookmark
Khadar soil belongs to which of the following soil types?

SR 101 (Khadar soil), TIMEYS FAIQ 629 IR (@] 657?
(A) O Black Soil
99 q@a! (Black Soil)
(B) © Red Soil
6MIEQ F)@@! (Red Soil)
(C) O Laterite Soil
gl (@a! (Laterite Soil)
(D) © Alluvial Soil (Correct Alternative) (Choosen Option)
€g F8Q1 (Alluvial Soil) (Correct Alternative) (Choosen Option)

Question No. 16 1.00
Bookmark
Who among the following founded the Congress Socialist Party in 19347
TN IR @9 1934 A1TLI65 K°694 62IT2IRE QF (Congress Socialist Party) 4Gl atwlem?
(A) O Jayaprakash Narayan (Correct Alternative)
trddelsl @IULEl (Correct Alternative)
(B) © Chittu Pandey
og 68
(C) O M.N.Roy
el 99, [l
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(D) © Sheikh Abdullah (Choosen Option)
64151 2RgRIL (Choosen Option)

Question No. 17 1.00
Bookmark
Which of the following Articles of the Indian Constitution defines 'Money Bill"?
QRSN ARIFR FIMES F1UQ 69@ AN, 2 FeAAS" (Money Bill) § 99@I8e a@3wlg?
(A) O Article 116
ol 116
(B) O Article 101 (Choosen Option)
Il 101 (Choosen Option)
(C) O Article 110 (Correct Alternative)
dIQl 110 (Correct Alternative)
(D) O Article 120
dial 120

Question No. 18 1.00
Bookmark
Which of the following Mathara dynasty rulers transferred his capital from Vardhamanpura to Simhapura?
F12lIR URL°S (Mathara dynasty) Gl FIRHS FRIQ 68R S99 SR RURUIRIG Qﬁﬂl@g@l
(Vardhamanpura) @ 9°@ga! (Simhapura) § IRIS2 F0RI6M?
(A) O Sankarvarman (Choosen Option)
e tatata (e (Sankarvarman) (Choosen Option)
(B) O Saktivarman
€@ ¢l (Saktivarman)
(C) O Vishakha Varman
FaIs |¢lg (Vishakha Varman)
(D) © Umavarman (Correct Alternative)
Qelede (Umavarman) (Correct Alternative)

Question No. 19 1.00

Bookmark
Who started the newspapers Kesari and Mahratta?

@9, 6@919 (Kesari) @ 19101 (Mahratta) QI8 SIRQRISIR 20 a56m?
(A) O Bal Gangadhar Tilak (Correct Alternative) (Choosen Option)
gl GISPIMG EM& (Correct Alternative) (Choosen Option)
(B) O Rabindranath Tagore
A1eal2l S165lIRN
(C) © Lal Bahaddur Shastri
mifM QUL I
(D) O Mahatma Gandhi
C1LIE]l SR

Question No. 20 1.00

Bookmark
Who is the author of the book "Poverty and the Unbritish Rule in India"?

"6QlIERE 2Q @ AT QM 2@ Q&2 (Poverty and the Unbritish Rule in India) 2999 6MeIQ &7
(A) O A S Narayan Agarwal
.94, QIRULél 2919 EIm (A S Narayan Agarwal)
(B) O P.C. Mahalanobis
d. 4. AILINERIS (P.C. Mahalanobis)
(C) O Dadabhai Naoroji (Correct Alternative) (Choosen Option)
QIRINIR FIENIER (Dadabhai Naoroji) (Correct Alternative) (Choosen Option)
(D) O M. Visvesvaraya
991, Q68U (M. Visvesvaraya)
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Question No. 21 1.00
Bookmark
Which is the only continent through which the Tropic of Cancer, the Equator and the Tropic of Capricorn
pass?

6208 YRS 64, LITI £ 69 KRG TIT 699, TYS 698 99° AR FIT 696 ARG |
(A) O Asia (Choosen Option)
982l (Choosen Option)
(B) © South America
QB4 261Gl
(C) O Africa (Correct Alternative)
2 (Correct Alternative)
(D) O North America
2alagJ[Saiata]

Question No. 22 1.00
Bookmark
When was the Fiscal Responsibility and Budget Management Act enacted by the Parliament of India?
QAGH °9Q IR 6969 RERITL QLEQQILEG B @6GT Je8F 2RIFAL (Fiscal Responsibility and Budget
Management Act) RIFIRIS FQUAIRYAI?
(A) O 2003 (Correct Alternative)
2003 (Correct Alternative)
(B) O 20086
2006
(C) O 2005 (Choosen Option)
2005 (Choosen Option)
(D) O 2010
2010

Question No. 23 1.00

Bookmark
Which of the following Articles of the Indian Constitution directs the state "to prohibit the slaughter of
cows, calves and other milch and draught cattle"?

QNG RIS YRS dBUGER AUR 6Q98, QUG "aliR, QIFAT I AIeY MR GLIRRINT 4e° SIE
R QG FINETIR, SRAF FIRQ! AR A8 FRRI" AR F6wE 6QR2AI?
(A) O Article 48 (Correct Alternative) (Choosen Option)
Il 48 (Correct Alternative) (Choosen Option)
(B) O Atticle 50
QU 50
(C) O Article 41
IR 41
(D) O Article 44
IR 44

Question No. 24 1.00

Bookmark
Which of the following straits connects the Black Sea and the Sea of Azov?

agmgle 699 Q4IR1 TSN Q9 QG (Black Sea) @ 2I6WIN AIFIS (Sea of Azov) L°YB 6L1R&R?
(A) O Kerch Strait (Correct Alternative)
696 délim (Kerch Strait) (Correct Alternative)
(B) O Bosporus Strait
6Q19641914 déllif1 (Bosporus Strait)
(C) © Strait of Gibraltar
RIS D&IRT (Strait of Gibraltar)
(D) O Davis Strait
¢lQg YélR1 (Davis Strait)

Question No. 25 1.00
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Bookmark

When was the "Make In India" initiative launched?
"6718 B8 K82l (Make In India)" FE6QYIS 6869 2IRN YAULIR2MI ?
(A) O 2015

2015
(B) O 2017

2017
(C) O 2016 (Choosen Option)

2016 (Choosen Option)
(D) O 2014 (Correct Alternative)

2014 (Correct Alternative)

Question No. 26 1.00
Bookmark
At present, how many languages are mentioned in the Eighth Schedule of the Indian Constitution?
4°gee QIQEd IR AL 2995 (Schedule) 69 686%1T AVR QRS 2R?
(A)O 21
21
(B) O 25
25
(C) O 22 (Correct Alternative) (Choosen Option)
22 (Correct Alternative) (Choosen Option)

(D)O 20
20

Question No. 27 1.00
Bookmark
In which year, did the Portuguese capture Goa?
609 delen Q@SHG?IIGG‘ 66112l ZRIFIR FDRIEM?
(A) O 1498 (Choosen Option)
1498 (Choosen Option)
(B) © 1510 (Correct Alternative)
1510 (Correct Alternative)
(C)yO 1503
1503

(D) O 1453
1453

Question No. 28 1.00

Bookmark
Which Constitutional Amendment Act made the provision for the creation of "All India Judicial Service"?

696 G T°6HIRIT 2RFAL TR "IS URRIK FUIDG 6421 (All India Judicial Service)" & @991 AN
69159 QUegl QSIS ?
(A) O 48th Constitutional Amendment
48097 RIS QeegRIG
(B) O 22nd Constitutional Amendment
220¢1 ARG LocHIlRIe
(C) O 28th Constitutional Amendment
280¢ dERIS deedllG
(D) O 42nd Constitutional Amendment (Correct Alternative) (Choosen Option)
429¢1 AfAIR L°6€lIME (Correct Alternative) (Choosen Option)

Question No. 29 1.00

Bookmark
Who was the first governor of the Reserve Bank of India?
@9 QI9G1Y QA6 QUIRA FIF FRER 26M?
(A) O DrMD Patra
@. 961, @. 9Ig (Dr M D Patra)
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(B) © C D Deshmukh

9. 8. 6Q4€€]8! (C D Deshmukh)
(C) O Sir Oshorne Smith (Correct Alternative)

a1 Baegd ga (Sir Osborne Smith) (Correct Alternative)
(D) © Shaktikanta Das (Choosen Option)

§@@18 QI (Shaktikanta Das) (Choosen Option)

Question No. 30 1.00
Bookmark
When did the third battle of Panipat take place?
$e19 QIFUQ LN (third battle of Panipat) 6969 62I1R2IMI?
(A) O 1656
1656
(B) O 1556
1556
(C) O 1761 (Correct Alternative) (Choosen Option)
1761 (Correct Alternative) (Choosen Option)

(D) O 1726
1726

2) Arithmetic

Question No. 1 1.00
Bookmark
Average of 11 consecutive numbers is 512. If the average of the 1515 numbers is 509 and the average of
the last 5 numbers is 515, find the middle number.
11§ 909 el LIILIR 512 26T | L& galel 5 & I°FUIR LIALIR 509 99° G 5 § A°HIQ LIQULIR
515 §4 6962 €I 9°8UI5 Fda a9 |
(A) O 512 (Correct Alternative)
512 (Correct Alternative)
(B) O 508
508
(C)O 510
510
(D) O 524
524

Question No. 2 1.00

Bookmark
New Delhi Tejas Express and Mumbai Tejas Express, two trains 268 m and 182 m long, run at the rate of
221 km/h and 103 km/h respectively on parallel rails. How long will it take for the second train to pass the
first train if they run in the opposite direction? (In seconds)

268 m 3182 m 63¢lY 8% 9RF 687 g2l TR 6972 1F699 B YAUR SR 96T LAFES 221 kmth G
103 km/h 69669 2FISR V26T B RS | IF 66T IRITA NG GF6R 515 FQ2AIT 6669 aIel
6509 2GS ARSI AIR TSI 687G 666 AFEL MTG? (6I6REER)

(A O

o OO N~

(D) O 5 (Correct Alternative)
5 (Correct Alternative)

Question No. 3 1.00

Bookmark
A number when divided by 42, 63 and 84, leaves the remainder 18 in each case. Find the smallest
possible number.

65115 9°GIIg 42, 63 B 84 IR BT FEM T6SYR AR QUTIEH 18 621 | YO AAY A°FUIT Fea o |
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(A) O 270 (Correct Alternative)
270 (Correct Alternative)
(B) O 300
300
(C)O 290
290
(D) O 280
280

Question No. 4 1.00

Bookmark
The length and breadth of the rectangle are increased by 20% and decreased by 30% respectively, find
the change in resultant area.

6511579 2AS6ER 65614 6 9YF Q2A[EE 20% 98 SRR AGG 30% LI FNAN | ARGIT 6VSPRER
62Q2Q 99Ee Fda a9 |
(A) O 16% decrease (Correct Alternative)
16% 219 IS (Correct Alternative)
(B) © 14% decrease
14% 219 dIte
(C) O 14% increase
14% 98 699
(D) O 16% increase
16% 98 629

Question No. 5 1.00

Bookmark
Kiran drives 166 km from Jammu to Srinagar. His average speed is 41.5 kmph. He leaves Jammu at 5:30
a.m. At what time will he reach Srinagar?

(A) © 09:30 a.m. (Correct Alternative)
09:30 a.m. (Correct Alternative)
(B) © 11:30a.m.
11:30 a.m.
(C)O 12:30 p.m.
12:30 p.m.

(D) O 10:30 a.m.
10:30 a.m.

Question No. 6 1.00

Bookmark

Which one of the following numbers is exactly divisible by 117
FIMEe LeHUIgRS I 6995 11 IS ‘21"‘6]}31 Q64 TRURY 6297
(A) O 27120

27120
(B) O 27112

27112
(C) O 27104 (Correct Alternative)

27104 (Correct Alternative)
(D) O 27128 (Choosen Option)

27128 (Choosen Option)

Question No. 7 1.00

Bookmark
Find the remainder when 212x213x214 is divided by 6.

212%213x214 Q QEIPRg 6 FIR ©IF GEM WIFEEIY 6m66 68R7
(A O 1
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(B)O 2
2

(C) O 0 (Correct Alternative)
0 (Correct Alternative)

Do 3
8

Question No. 8 1.00

Bookmark

The average of 157 lab readings was 53 units. Later on, it was found that a reading 210 was wrongly
typed as 53. Find the correct average.
157 © YIS QE°Q QIQILIR 53 IR 266 | d6Q 9g] KEIIERI 64, 8° 210 § QMR 53 SR AR |
Q0% IR Fda a9 |
(A) O 54 (Correct Alternative)

54 (Correct Alternative)
(B) O 51

51
(C)YO 57

57
(D)O 60

60

Question No. 9 1.00

Bookmark
Find the HCF of 195, 390, 585 and 780.

195, 390, 585 3 780 @ 61.91.9 744 /4l |
(A O 175
175
(B) O 165
165
(C)O 185
185

(D) © 195 (Correct Alternative)
195 (Correct Alternative)

Question No. 10 1.00
Bookmark
Find the lateral surface area of a cylinder with radius 25 cm and height 7 cm. (In cm?)
QUIEIS 25 cm 6 @981 7 cm 2Rl 66115 ISR mej JYEen 6T M a4 a9 | (cm? 69)
(A) O 1100 (Correct Alternative)
1100 (Correct Alternative)
(B)y O 1300
1300
(C)O 1000
1000

(D) O 1200
1200

Question No. 11 1.00

Bookmark
Find the value of x.

[(1029+93x31)+7]+1 = x2+(11+231x21)
X QgAY QA8 G |
[(1029+93x31)+7]+1 = x2+(11+231x21)
AO 9

9

(B) O 7 (Correct Alternative)
7 (Correct Alternative)
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€08
8

(D)o 10
10

Question No. 12 1.00

Bookmark

If two numbers are in the ratio 21:22. If 14 is added to both of the numbers, then the ratio becomes 22:23.
Find the smallest number before adding 14.
gas?‘ geall fldem aAgdle 21:22 99° AT 2R, L°HUIER 14 6419 FAULN 6867 6DFIFTRDR dgdie 22:23 g9
| 14 6519 99| R YYUr oGS Réla qa |
(A) O 284

284
(B) O 294 (Correct Alternative)

294 (Correct Alternative)
(C)O 274

274
(D) O 264

264

Question No. 13 1.00

Bookmark

The selling price of the table is ¥ 10235 after a discount of 11%. If the cost price is 50% of the marked
price, then what is the cost price? (In )
11% QLI8 6991 U669 6515 689MA S84 MY T 10235 99 | 9 G2 RY, F9¢ FRYRQ 50% §9 6868 G4
£FImY 6966 6297 (X 69))
(A) O 5800

5800
(B) O 5750 (Correct Alternative)

5750 (Correct Alternative)
(C) O 5850

5850
(D) O 5900

5900

Question No. 14 1.00

Bookmark

A works twice as fast as B. If B can complete a work in 405 days independently, find the number of days
in which A and B can together finish the work.
A, B 0IQ 9@ g8l 919 K151 K69 | 9T 9952 B 691549 QIE1g 405 Q6 Q]“q&i RLNEH 6069 IRE KUK A B
B 6966 @76Q 690 QI¢l 9°g4 @RAIR6G7?
(A) O 137

137
(B) O 135 (Correct Alternative)

135 (Correct Alternative)
(C)O 139

139
(D) 141

141

Question No. 15 1.00
Bookmark
If A got 484 marks and B got 363 marks, then what percent of A's mark is B's mark?
A9 A QIS qIq 484 99° B i<l ¢l 363 9 6069 A AR AN 6968 96! B A €lle 26572
(A) O 71
71

®) O 73
73
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©o 77
77

(D) O 75 (Correct Alternative)
75 (Correct Alternative)

Question No. 16 1.00
Bookmark
Arjun and Navin together can do a piece of work in 32 days and Oliver can do it in 96 days. In how many
days will Arjun, Navin and Oliver do it together?
2GR 6 2R IRE Q6T 69115\ RIFG 32 TR6R 99° BRER 692 RIFlg 96 YR6R ARG | AgR, 9918 6
BREG IRE RIER 69% RIFlg 660 GR6Q ARER?
(A)O 21
21
(B)O 22
22
(C)O 23
23
(D) O 24 (Correct Alternative)
24 (Correct Alternative)

Question No. 17 1.00
Bookmark
Find the Total surface area of the hemisphere, given that the radius is 12cmand = 3.14. (In cmz)
T =3.14 688, 12cm YIS GFY 66115 2ATCNRGR G JRERD 6ASTPR F4A 89 | (cm? 69)

(A) O 1356.48 (Correct Alternative)
1356.48 (Correct Alternative)

(B)y O 1386.48

1386.48
(C) O 1366.48
1366.48
(D) O 1376.48
1376.48
Question No. 18 1.00
Bookmark
What value should come in the place of question mark (?) in the following question?
3101 x ? + 121x11 = 3264 + 7370
FIMGe 9962 I 59 (?) QI LT MY @'l 6991 AAGUK?
3101 x 2+ 121x11 = 3264 + 7370
(A)O 6
6
(BY O 3 (Correct Alternative)
3 (Correct Alternative)
€05
5
DO 4
4
Question No. 19 1.00
Bookmark

A 1411 litre of mixture contains milk and water in the ratio 41:42. How much milk must be added to the
mixture so that it contains milk and water in the proportion of 3:2? (In litres)
1411 @6'51 QA% 6015 F151616Q A1 B GRA 2GS 41:42 2165 | TFE6R 2] HR 6 R QARG 3:2
Ao IR F15669 6968 ARAIR AR LIRS 2SIR? (REVER)
(A) O 374 (Correct Alternative)

374 (Correct Alternative)
(B) O 364

364
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C) O 394
394
D) O 384
384

Question No. 20 1.00
Bookmark
By selling a watch for ¥ 2684, a man loses 12%. Find the cost price of the watch. (In )
60159 QGG Z 2684 651 TG AR B6El U 12% [T 9L | AT g4 Y Fda e | R 6x)
(A) O 2850
2850
(B) O 3150
3150
(CYO 2950
2950

(D) O 3050 (Correct Alternative)
3050 (Correct Alternative)

3) Analytical Reasoning and Mental Ability

Question No. 1 1.00

Bookmark
Which of the following symbols should replace the questions mark (?) in the given expression in order to
make the expression ‘N < E’ definitely true?

D>0z2N<A?T=E ] ]
dRgRIs ‘N < E' g §8¢ Q64 954 9991 diR 996 991662 291 99 §¢ (?) 91969 F9RGe 66Q 9918
Q@RI 2ISEUR?

D>0z=N=sA?T=E
(A)O =

(B) O Either=or<
=@l <

(C) O < (Correct Alternative) (Choosen Option)
< (Correct Alternative) (Choosen Option)

(D) O

Question No. 2 1.00
Bookmark
Find the next number in the series.
5,928, 37,78, 7
goa SF169 Qe Q°aUIG Fda aal |
5 9,20.37,78.7
(A) O 150
150
(B) O 152
152
(C) O 151 (Correct Alternative)
151 (Correct Alternative)
(D) 154
154

Question No. 3 (Case Study From Q.No 4 To 8) 5.00

Bookmark
Directions: Read the given information carefully and answer the questions that follow.
Seven friends M, N, O, P, Q, R and S sit in a straight row. Out of seven, some face north and some face
south, not necessarily in the same order.
a) The number of people sitting between O and Q is same as the number of people sitting between M and
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b) Except S and N, no one face the direction same as that of M.
¢) N sits third to the right of S.
d) P sits fourth to the right of M, who is the only neighbour of O.
e) The number of people facing south is more than the number of people facing north directions.
F6EISR: QARSI LRI AR ARG 99° dI9FeR aan §2g | _
e @8l disP M, N, O, P, Q RGBS GG}I@\‘] ol AIT6R QART | AIF KéE FRIQ @8 Aa9g 19° 78 Qfdg ﬂf
% 9983 | 98 99 AET| AR G6L |
a) 0 6 Q 1869 Qdelal emIGe <61, M GP QQGQ QdeJQl eMIaE Q°6lYl 98 QIR 26T |
b) S B N & U816, M g€ 9291 Q9 IR 68 (L FRRILIE |
¢) S A QIRIE 86 GO1A YIFEAN 4R |
d) O QL 9QelE 6Ll M Gl @lgldl /¢ 9@8?] gaeaa P QQQ I
e) @R4 Qolg Gl‘a“u 2229 ERNE D°HUI, RRQ T ‘El‘é‘ P2 ERIKE D°5YI 0IQ 2R 26T |
Bookmark
Which of the following is the odd man out, with respect to the arrangement?
QUG 2GR TIMES FRIQ 6890 ALGFS (odd man out) 2662
(A) O NAQ (Correct Alternative) (Choosen Option)
NQ (Correct Alternative) (Choosen Option)
(B) O RS
RS
(C)O OM
oM
(D)O MR
MR
Bookmark
Who sits exactly between R and Q?
R 6 Q2 0% A1%6a &9 9487
AOP
P
(B) O O (Choosen Option)
O (Choosen Option)
C oM
M
(D) O S (Correct Alternative)
S (Correct Alternative)
Bookmark
Who sits second to the right of the one who sits third to the left of N?
N Q QIFl @ GO IF6R Q2Ql QUBR L1218 /¢ §L14 QIF6 &9 8&?
(A) O P (Correct Alternative)
P (Correct Alternative)
B)O R
R
(C) O Q (Choosen Option)
Q (Choosen Option)
DO S
S
Bookmark
Who sits at the fifth position from the left end of the row?
AIGR QIE dIgg A8a gIeq @9 Q88 ?
(A) O Q (Correct Alternative) (Choosen Option)
Q (Correct Alternative) (Choosen Option)

Join Us-



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

Bookmark
Who sits third to the left of R?

R Q QI 9% 9012 296 &9 @482

(AYO N
N

(B) O P (Correct Alternative)
P (Correct Alternative)
(C) O M (Choosen Option)
M (Choosen Option)

DO O
@]

Question No. 9 1.00

Bookmark
Find the next number in the series.
427, 354, 275, 190, 99, ?
99a 9769 9e9al 2°eUIT Fda aa |
427,354, 275, 190, 99, ?

A O 1
1

B O 4
4
(C) O 2 (Correct Alternative)
2 (Correct Alternative)
(D) O 3 (Choosen Option)
3 (Choosen Option)

Question No. 10 1.00
Bookmark
In this question, relationship between different elements is shown in the statement. This
statement is followed by two conclusions:
Statements: Y=L Az2M; L=l F>AI=M
Conclusion:
)F>M
iy<I

Choose the appropriate one from the following options
(A) Only conclusion i follows

(B) Only conclusion ii follows

(C) Either i or ii follows

(D) Neither i nor ii follows

(E) Both i and ii follow.

9% g969 §01g QAIQIS FIEA 2SI A° UGG SRLYEN 9oFie SAUMINE | 9T 929 969 9aF Fad
FALRE:

e@eY: YsL,AzM;Ls;F>A =M

gad:

)F>M

iy =<l

FINGS TRFYLR RIQ RUYD T9F U /9
(A) 699R Gad | AQANE F6Q

(B) 6297 fad i AGAAE [6%

(C) Fad i A9 ii 290G F6Q
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(A) O A (Correct Alternative)
A (Correct Alternative)

(B) © B (Choosen Option)
B (Choosen Option)

€O C
Cc
(b)o D
D

Question No. 11 1.00

Bookmark
Which one of the following images numbered as (1), (2), (3), (4) will be the next image for the given
series?

(1), (2), (3), (4) 919 6TIRAS| FIRYS FRIQ 69Q 8T, Y9Q §AR A6 8T 62972

(A)O 4
4

(B) O 1 (Choosen Option)
1 (Choosen Option)

(C) O 2 (Correct Alternative)
2 (Correct Alternative)

(D)O 3
3

Question No. 12 1.00

Bookmark
Which one of the following images numbered as (1), (2), (3), (4) closely resembles the mirror image of the
given figure? ]
(1), (2), (3), (4) P9I 62IRAL YRGS TRIQ 656 88, J98 58 9dd 996 FRoee g 6€Q ?

(A O 3
3

(B) O 4 (CorrectAlternative) (Choosen Option)
4 (Correct Alternative) (Choosen Option)

€o1
1

(b)O 2
2

Question No. 13 1.00
Bookmark
N sits to the North of M and South-West of P. If O sits to the East of N and South of P, then to which
direction of M, is P?
M Q Q&6 Q6 9G° P Q @VE-A5 GOl6a N Q4R | A& N Q QG{SGI 43° P 9 @869 O 9421 6665 M Q
696 Qol6a P 94&?
(A) O South-East
QR8-99
(B) © North-East (Correct Alternative) (Choosen Option)
QQQ-E]_Q( (Correct Alternative) (Choosen Option)
(C) © North-West
QeQ-a8e
(D) O South-West
QRa-ada

Question No. 14 1.00
Bookmark
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Four of the following five are alike in a certain way and so form a group. Which is the one that does not
belong to that group?
Z,F X B U ]
FIMES ISR CRIQ §I6‘61I§' 99 FEY QUILES IRIAR 26T 9e° 66115 aqe 907 998 | 6905 698
AAL6ER TR 628 FIE?
Z,FXB U
(A) O X (Choosen Option)

X (Choosen Option)
B)O Z

Z

© 0o F
F

(D) O U (Correct Alternative)
U (Correct Alternative)

Question No. 15 (Case Study From Q.No 16 To 18) 3.00
Bookmark
Directions:
In a certain code language:
'stay strong and positive' is written as 'le que ka st',
'positive and crazy girl' is written as 'yen st que wu',
'strong and brave girl' is written as 'que ka yen ha',
'stay brave and crazy' is written as 'ha le wu que'
feLaIem:
99 GAR 6919 QUTIES :
'stay strong and positive' § 'le que ka st' QI6% 6mall e,
'positive and crazy girl' § 'yen st que wu' QISR 6RSI AR,
'strong and brave girl' § 'que ka yen ha' QIeQ 6mSll A&,
'stay brave and crazy' § 'ha le wu que' QI6S 6mSl KRR,

Bookmark
What does the code 'yen ka' stand for?

618 'yen ka' QIl QI Q@Y?

(A) O positive girl
positive girl
(B) O brave girl (Choosen Option)
brave girl (Choosen Option)
(C) O girl strong (Correct Alternative)
girl strong (Correct Alternative)
(D) O strong positive
strong positive

Bookmark
What is the code for 'and' in the given code language?

9% 6@1¢ QIR 'and’ A 6Q1E Q'El 6€Q?

(A) O st
st
(B) O que (Correct Alternative) (Choosen Option)
que (Correct Alternative) (Choosen Option)
(C) O yen
yen
(D) O wu

wu

Bookmark
What is the code for 'brave' in the given code language?

96 6@le QUFIER 'brave’ Q 691 @'¢l 6867
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(B) © ha (Correct Alternative) (Choosen Option)
ha (Correct Alternative) (Choosen Option)

(C) O que
que

D) O le

le

Question No. 19 1.00
Bookmark
Four of the following five are alike in a certain way and so form a group. Which is the one that does not
belong to that group?
Ability, Impotence, Potential, Capacity, Competence )
QIMGS QICHIT RIQ §I661I§' 4q GEY AAAER IRIAF 2SS 98° 6515 AFE G0 /9T | 6990 698
aqeca difim 689 QI8?
Ability, Impotence, Potential, Capacity, Competence
(A) O Impotence (Correct Alternative) (Choosen Option)
Impotence (Correct Alternative) (Choosen Option)
(B) O Capacity
Capacity
(C) O Potential
Potential

(D) O Ability
Ability

Question No. 20 1.00
Bookmark
A girl starts at point A and walks 4km towards South, turns right and walks 5km; turns another left and
walks 2km. She then takes a right turn and walks 2km; turns left and walks 2km. She then walks 1km
towards East and turns left and walks 8km to reach B. How far is A from B?
3G A Q 6915 QIRG! SIS 210 8R QB TF6R 4km FIRG| T6R FILIEF R 5km SIRMI; JETIR FIAG
gm 2km SIm@Il | FI'U6R 641 RIFIEG 9 2km SlRMI; QIEF QM 2km SIRAI | GI'U6R 69 q@ Q6 1km
SIRMI 9Q° QIF1g M 8km SIm B 69 LM | B OIQL A 9 YOI8I 69657
(A) O 10km
10km
(B) © 11km (Choosen Option)
11km (Choosen Option)
(C) O 6km (Correct Alternative)
6km (Correct Alternative)
(D) O 8km
8km

Question No. 21 1.00
Bookmark

If, in the number sequence 532148756 321, all the odd numbers are increased by two and all the
even numbers are decreased by two, then the new number sequence is arranged in ascending order,
which will be the sixth digit from the right?
Q8 gea °HUIGF15321487 5632169 291 4919 2l A°HUIER @R §F @ULIN 9Q° 9919 L]
A°oIeR Y ElE QUMM 99° @oa 4°6il 9619 dITQ ¢ 99169 duln 6MlIAN 666% QL6 @9 VY 2
6Q60 6997
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(A)O 3
3

(B) O 5 (Correct Alternative)
5 (Correct Alternative)
(C) O 0 (Choosen Option)
0 (Choosen Option)

(D)O 2
2

Question No. 22 1.00

Bookmark
If all the vowels are replaced by the immediate next consonant from the English alphabet series in the
word NEIGHBORHOOD, then the letters of the word are arranged alphabetically, which letter will be sixth
to the right of the third letter from the left?
€9 €% NEIGHBORHOOD 6% 291 9619 99 o4 AU QeI 2galen Oa deeel Quge od gin
g691de 6891 g6 SN A" e eIl 2FYI6R 9R@ 6MBIIN 6667 QIF AER LB 2FR R QLIS
Q0 99 JI9Q 2R 65Q6 6297

(A O J
J

(B) O R (Choosen Option)
R (Choosen Option)

(C)O N
N

(D) O P (Correct Alternative)
P (Correct Alternative)

4) Computer and Internet Awareness

Question No. 1 1.00

Bookmark
Which of following were used in second generation computers?

69694 60626949 FEUSAYLS (second generation computers) 68, FIMEIC AUQ §'6l FUSLIR 6LR2UMI?
(A} O Transistors (Correct Alternative)
F1&|Q (Transistors) (Correct Alternative)
(B) O Integrated Circuits
28651652 989 (Integrated Circuits)
(C) O Microprocessors
AlRERI6YIcEd4a (Microprocessors)
(D) © Vacuum Tubes (Choosen Option)
@IGUE YUY (Vacuum Tubes) (Choosen Option)

Question No. 2 1.00
Bookmark
In a standard keyboard, where are the function keys arranged?
4R YIgIE F1691E (standard keyboard) @ 6890169 PRI NGES (function keys) @ SUSGI 2I1g?
(A) O Center of the keyboard (Choosen Option)
Q1691 AZ6Q (Center of the keyboard) (Choosen Option)
(B) O Left side of the Keyboard
F16QIGQ QI F26R (Left side of the Keyboard)
(C) O Bottom row of the keyboard
F6LNER 7€ TS (Bottom row of the keyboard)
(D) O Top row of the keyboard (Correct Alternative)
F16S16R QYR MITERN (Top row of the keyboard) (Correct Alternative)

Question No. 3 1.00

Bookmark
What is the shortcut key to go to next slide in MS PowerPoint?

MS QI8IR 996 (MS PowerPoint) 60 09961 9iaeq 891 JIR 999F 91 (shortcut key) 9'€1?
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(A) O Pageup
Page up
(B) O Page down (Correct Alternative)
Page down (Correct Alternative)
(C) O Ctrl + down arrow (Choosen Option)
Ctrl + down arrow (Choosen Option)
(D) O Ctrl + up arrow
Ctrl + up arrow

Question No. 4 1.00

Bookmark
In Microsoft Word, you can use the option from the Insert tab to add objects such as a file, image,
audio and video.

IRESICIE GlIE (Microsoft Word) 69 65lI5N IR (file), REEIR (image), 2&3 (audio) @ GGG (video) @R
AS6RLICT 65T AR RFAY SUIS (Insert tab) 69 S| 299Q § I8 QULLIR KAAIRER |
(A) O Styles

Alm (Styles)
(B) O Object (Correct Alternative) (Choosen Option)

296Ws (Object) (Correct Alternative) (Choosen Option)
(C) O Themes

2le1 (Themes)
(D) O Icons

AR (Icons)

Question No. 5 1.00
Bookmark
is the main component of a Linux operating system and is the core interface between a

computer’s hardware and its processes.
Meg ARG IE (Linux operating system) Q €514 REH160E 26% 99° ¥Rl 65115 [AUTR
2lg6aa (hardware) 99° JQIQl @ldy géIm (processes) £1&6%1 2T 6R19 WEEPY (core interface) 26T |
(A) O Linux Kernel (Correct Alternative)

MeF 6969M (Linux Kernel) (Correct Alternative)
(B) O Linux Config

Neg @9eal (Linux Config)
(C) O Linux VM

Qg VM (Linux VM)
(D) O Linux Bios (Choosen Option)

MQg 16 (Linux Bios) (Choosen Option)

Question No. 6 1.00
Bookmark
In Microsoft Word, option is used to provide additional information about a word with in a
document.
L6l @l¢ (Microsoft Word) 6 Q! AYaqg 6015\ @G6F14Q I €19 TELER AT 9oa!

(additional information) diW&| IR QUSLIR SUAID2IN |
(A) O Footnotes and Endnotes (Correct Alternative)
FCeRIG 2ld 9€6R19 (Footnotes and Endnotes) (Correct Alternative)
(B) O Tables and Objects
699m 2id A6W] (Tables and Objects)
(C) O Word art and Object
@l 2 216 ALERF, (Word art and Object)
(D) O Header and Footer
6960 g T (Header and Footer)

Question No. 7 1.00
Bookmark

Join Us-



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

What is the full form of HTTP?
HTTP @ 94 Qa 9'4?
(A) O Hyper Text Transfer Protocol (Correct Alternative)
LINARN 69'9F SINTRN 6HICTI6RIM (Hyper Text Transfer Protocol) (Correct Alternative)
(B) O Highlighted Text Transfer Protocol
LIMINETE 65'5% Slakrol 6dI6gI6RIM (Highlighted Text Transfer Protocol)
(C) O Hiding Text Transfer Protocol
9InE° 6599 CIRLPal 6dI6TI6RIM (Hiding Text Transfer Protocol)
(D) O Hyper Tool Transfer Protocol (Choosen Option)
LINdol gm QP 64I6TI6RIMm (Hyper Tool Transfer Protocol) (Choosen Option)

Question No. 8 1.00

Bookmark
What does .com refer to with respect to website?

6GSIRNS (website) ILEER .com Ll Q6ad [691?
(A) O communication (Choosen Option)

QQ‘JG“GQQ‘&‘ (communication) (Choosen Option)
(B) O community

QEMES (community)
(C) © commercial (Correct Alternative)

eadaim (commercial) (Correct Alternative)
(D) © common

@ele (common)

Question No. 9 1.00
Bookmark
What are the unique symbols of hexadecimal numbers?
629162d0IN A°HYIgERR (hexadecimal numbers) 90@ 9912 (unique symbols) 99 @'€1?
(A) O (0-9,a-)
(0-9, af)
(B) O (0-9, A—F) (Correct Alternative)
(0 — 9, A-F) (Correct Alternative)
(C) O (0-15)
0-15)

)

(
(D)O (a-p
(a-p)

Question No. 10 1.00

Bookmark

Which among the following output ports gives you 4K resolution?
FANGC AIRGYS 6QFYES (output ports) FIRIQ 6RR2AR AINE 4K RERIRULE (4K resolution) TIRES?
(A) O RCA

RCA
(B) O S-VIDEO

S-VIDEO
(C) © HDMI 2.0 (Correct Alternative)

HDMI 2.0 (Correct Alternative)

(D) O VGA
VGA
Question No. 11 1.00
Bookmark
feature of Microsoft Excel can be used for grouping, filtering and summarizing large volumes of
data.
Q96 ARAR IS § TGP (grouping), FPRETGP (filtering) @ AFNRGAGP (summarizing) @RS GIE‘YQI@GQIQ]@
6@ (Microsoft Excel) @ 65994 @ QURLIR AL |

(A) O MNlustrations
meR s (lllustrations)
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(B) O Forecast (Choosen Option)
6CPIQRIE (Forecast) (Choosen Option)
(C) O Pivot Tables (Correct Alternative)
dif@s 69'gMm (Pivot Tables) (Correct Alternative)

(D) O Tours
99 (Tours)
Question No. 12 1.00
Bookmark
permits transmission simultaneously in both directions.
QAL TII6 IRILIFPER SIRLILG (transmission) K] dio QAIFIYY G2 |
(A) O Complex
(B} O Full duplex (Correct Alternative)
gm £69g (Full duplex) (Correct Alternative)
(C) O Half duplex
QI o9y (Half duplex)
(D) O Simplex
Question No. 13 1.00
Bookmark
Websites such as flipkart and amazon are classified as sites.

FARIS (flipkart) 9G° 2ICIRE (amazon) W 66QAIRSYEq
(A) O News Media

delgIR €11del (News Media)
(B} O E-commerce (Correct Alternative)

R-94edIL (E-commerce) (Correct Alternative)
(C) O Social Media (Choosen Option)

AIFIGES GI&IE1IE1 (Social Media) (Choosen Option)
(D) O Education

€19l (Education)

dIng 656165 21@@‘433 FAUAIRE |

Question No. 14

Computer mouse is a/an :
AR FIRE (Computer mouse) 6515 2eg |
(A) O Plotting device

95 GRRY (Plotting device)
(B) O Processing device

641621E° BRURNE (Processing device)
(C) O Input device (Correct Alternative)

Qe GRURL (Input device) (Correct Alternative)
(D) O Output device (Choosen Option)

2lRo'yds S@lag (Output device) (Choosen Option)

1.00
Bookmark

Question No. 15

What is the shortcut to insert a line break in MS Word?

MS @I%' (MS Word) 69! 65115\ RIS 694 (line break) @& (insert) @91@! IR 9GS 4417

(A) O Shift + Enter (Correct Alternative)
Shift + Enter (Correct Alternative)
(B) O Ctrl + Enter
Ctrl + Enter

(C) O Ctrl + Shift + Enter (Choosen Option)
Ctrl + Shift + Enter (Choosen Option)

1.00
Bookmark
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(D) O Ctrl + hyphen
Ctrl + hyphen

Question No. 16 1.00

Bookmark
You can reduce the size of a file to save disk space by

@4 (disk) 69 RISl (space) QAR aiR 28 , PR 2 2R (size of a file) § L1 FAAIFECS |
(A) O Indexing the files
FIRNGYET AT 3 (Indexing the files)
(B) © Renaming the files
FIARYLF 6T @5 (Renaming the files)
(C) O Hiding the files
LIANYLT €Ine @G (Hiding the files)
(D) © Compressing the files (Correct Alternative) (Choosen Option)
FIAMGEG S6£19 @6 (Compressing the files) (Correct Alternative) (Choosen Option)

Question No. 17 1.00

Bookmark
Every cell in an Excel worksheet contains an address, which is defined by

651G 96gMm GIGAS (Excel worksheet) 9 9684R 69 (cell) 69 6615 21689 (address) 2l QAITIG
Q191 QRRUTS KU |
(A) O a column number followed by row letter
9@ AR 2°64l J6Q ISR 2V (a column number followed by row letter)
(B) O a column letter followed by a row number (Correct Alternative)
96 SR A[6 J69 66115 2@ d°61Ul (a column letter followed by a row number) (Correct
Alternative)
(C) © arow number (Choosen Option)
9@ AIZ 9°61Yl (a row number) (Choosen Option)
(D) O arow number followed by a special character
9q AT D°91Yl J6Q 65159 696lIM FUIERRFS (a row number followed by a special character)

Question No. 18 1.00

Bookmark
is the creation of one or more regions on secondary storage, so that each region can be
managed separately.

62QR 6969491 68169 (secondary storage) 69 Y& @€l 2@ 68E (region) F108 KA,

AL FIR J68YR 68E (region) § GAUF SIES ARG FAELS |
(A) O Disk fragmentation

&9, FISIEFI6EES (Disk fragmentation)
(B) O Disk Allocation

@9 2I6MERLE (Disk Allocation)
(C) O Disk partitioning (Correct Alternative) (Choosen Option)

&9 aigage (Disk partitioning) (Correct Alternative) (Choosen Option)
(D) O Disk restoration

@9 56699 (Disk restoration)

Question No. 19 1.00
Bookmark
The file extension of a Microsoft PowerPoint presentation is
AR6FILE dIGIo 996 6d6W6ads (Microsoft PowerPoint presentation) %) Flom Igeoads (file
extension) aleg |
(A) O ppt (Correct Alternative) (Choosen Option)
ppt (Correct Alternative) (Choosen Option)
(B)y © mdb
mdb
(C) O doc
doc
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(D) O xIs

xls

Question No. 20 1.00

Bookmark
To Shutdown Windows, you need to select option from the Start menu and then select Shut
down.

@64l g 99¢1Q8 (Shutdown Windows) 9091 ARl 2I06g |I 6619 (Start menu) § g o9
ARQIg 959 99° BI'U6R ATGIRR (Shut down) SEE QRRIg AGQ |
(A) © Account
2RlQE (Account)
(B) O Settings (Choosen Option)
641G° (Settings) (Choosen Option)
(C) O Control Panel
@6dlIm AYie@m (Control Panel)
(D) © Power (Correct Alternative)
digIo (Power) (Correct Alternative)

5) Current Affairs National and International

Question No. 1 1.00
Bookmark
Anwar |Ibrahim was recently appointed as the Prime Minister of which of the following countries?
UGG RFIEE! (Anwar Ibrahim) GERGS 6Q6IClIRE FRIQ AIrgea 699 699 PUNFIF UG @9 626m?
(A) O Maldives
¢mg1d
(B) O Indonesia
REaIEaT2l
(C) O Brunei
e
(D) O Malaysia (Correct Alternative) (Choosen Option)
fllem&A2Il (Correct Alternative) (Choosen Option)

Question No. 2 1.00

Bookmark
Which country has hosted the special meeting of United Nations Security Council’s Counter Terrorism
Committee (CTC) in October 20227

ACKUSR 2022 69, ARG Q1T °AR YOG IRV (United Nations Security Council) Q 2IG@SIS gG6aU
g%G (Counter Terrorism Committee, CTC) Q 928@ 96l 699 694169 2I6AIGE 62IR2IRI ?
[l (A) O Russia (Choosen Option)
2l (Choosen Option)
(B) O United States of America
IRAUY, 216024
(C) O Ukraine
£eqa
(D) O India (Correct Alternative)
WG (Correct Alternative)

Question No. 3 1.00
Bookmark
Which among the following cities hosted the Khadi Fest — 2022 Exhibition?
FIRYE IR 609 ILRER §IT 6P - 2022 (Khadi Fest — 2022) Q451 2I6ARET 6LIRARI?
(A) O Delhi
am
(B) O Kolkata
6RIMRIG!
(C) © Mumbai (Correct Alternative)
€1 (Correct Alternative)
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(D) © Chennai (Choosen Option)
65919 (Choosen Option)

Question No. 4 1.00

Bookmark
In October 2022, who among the following became the first Indian wrestler to win Gold medal at U-23
World Wrestling Championships in Spain?

RSN 2022 62 692 62 AGTFEG U-23 GIne 69R° SUIFARSA (U-23 World Wrestling Championships)
69 RIS FRIR @9 94 a9 TSI 92F AUNSIA 2em?
(A) © Aman Sehrawat (Correct Alternative)
Arq 6619UTES (Correct Alternative)
(B) © Sushil Kumar
gelim gl
(C) O Vinesh Phogat
Q6a€l PGS
(D) © Bajrang Punia
Q@A gaall

Question No. 5 1.00
Bookmark
What is the rank of India in the 'Global Hunger Index 2022'?
699Im L6Pl W68y 2022 (Global Hunger Index 2022)' 6% @IQE9 QIS 69667
(A) O 109
109
(B) © 107 (Correct Alternative) (Choosen Option)
107 (Correct Alternative) (Choosen Option)
(C)o 102
102
(D) 104
104

Question No. 6 1.00
Bookmark

In December 2022, the 17th Asia Pacific Regional Meeting (APRM) of the International Labour
Organization (ILO) was held in which among the following Countries?
6L 2022 69 AILEIES g6 9°610 (International Labour Organization, ILO) & 170¢1 982 608Ta
QARBRIM TF°, APRM (17th Asia Pacific Regional Meeting, APRM) SEIRSIS FRIQ 669 694169 2A98S
L@ mI?
(A) O Indonesia

@saleagel
(B) O India

ol
(C) O Malaysia

clemgell
(D) O Singapore (Correct Alternative) (Choosen Option)

AGPIYR (Correct Alternative) (Choosen Option)

Question No. 7 1.00
Bookmark
Kadmat beach, which recently received Blue Flag Certification, is located in which Union Territory of
India?

(A) O Andaman and Nicobar Islands
QIS 8 TR F1AYG

(B) © Puducherry
ggesal
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(C) O Lakshadweep Islands (Correct Alternative) (Choosen Option)
RUAIFII §AYS (Correct Alternative) (Choosen Option)

(D) O Dadra Nagar Haveli and Daman and Diu
QIQI A9IR LI6ER B PIAR B TR

Question No. 8 1.00
Bookmark
Which country has recently conferred its prestigious 'Chevalier award' to Indian Carnatic vocalist Aruna
Sairam?

APYEa ARG ‘E?tiil%‘@ Q€ag1 2l dial¢l (Indian Carnatic vocalist Aruna Sairam) & 699 69€6R
9219 IRIFRFR 'QUICUMAR YLD (Chevalier award) §I9 AFIFE Q@AUAIRR?
(A) O Japan
widie
(B) O Pakistan
aRgie
(C) O France (Correct Alternative) (Choosen Option)
&I, (Correct Alternative) (Choosen Option)
(D) © Russia
Qe

Question No. 9 1.00
Bookmark
Which Country has won the 2022 Women's T20 Asia Cup?
2022 FIRI T20 982l Q€ (2022 Women's T20 Asia Cup) 689 644 G&?
(A) O Pakistan
a1Rgle
(B) O India (Correct Alternative)
WIKE (Correct Alternative)
(C) © Srilanka
of I
(D) © Bangladesh (Choosen Option)
FePmiesl (Choosen Option)

Question No. 10 1.00
Bookmark
In October 2022, which country has been removed from the FATF's 'grey list'?
AU6FUIIR 2022 69 6QR 694G FATF Q 68 GIRS! (grey list) Q@ QIR S2AAIRE?
(A) O Panama
| digiell
(B) O Pakistan (Correct Alternative)
aIRYIQ (Correct Alternative)
(C) O South Sudan
QR4 99IQ
(D) O Yemen
R
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